RACINES CARREES

EXERCICE 1B

EXeRrcICE 1 : Calculer:

EXERCICE 3 : Calculer:

EXERCICE 5 : Calculer :

A=(\2+1)(\2+3)
A:«/Ex\/z+\/§x3+lx«/§+lx3
A=2+3J2+2+3
A=42+5

A=32(\2+1)
A=3V2x2+32x1
A=3x2+32
A:3«/§+6

B=(\5+2)(1++/5)

c=(V2+1)(2-3)

B= (25 +2)(1-3Vs)

A=23(7\3)°
A=2[3x (7\[3x 7\[3)
A= 2\/§ X (7x7x\/§x\/§)
A=2/3 x 49x3
A=29M43

D=(\2+1)(V2-1)

c=7\3(3-5V3)

B=37(2-111/7)°

EXERCICE 2 : Calculer:

D=(5v2-4)(3-8\2)

A-(2e1)

A= (\/E)2+ Zxxﬁxl +1
A=2+2\2+1

A=2n/2+3

EXERCICE 4 : Calculer :

s~ (3 r2)

A=(32+1)

A= (3\/E)z+ 2><3\/Ex1 +1°
A=9x2+6+2+1
A=62+19

c=27(1-3\7)(2\7-3)

EXERCICE 6 : Développer :

B=(nf3+1)

A= (x+12)’

A=x2+ 2xxx\/5+(\/5)2
2

A=x +2\/§x+2

0= (7]

c=(2/5+3)°

5~ (3

D=/2(5+3\2)

€= (x=2\5)(x+2v5)
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